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Balance the equations
750, +0, — Z s0s
L Fe + 0, — ZFe0s
cHs D0y -3¢0, Ao
TiCly + ©3 — .Ti0y +7Ch
Ba(OH), + Na;SOs —  BaSO; +/ NaOH
7 Nal + Pb(NO;), — Pbl, +/NaNO;
CHR0s +(p0: — bco, +{pmo
Pb(NOs),  +AKI— Pb, + / KNOs
Cb, + JNa — /ZNaCl
HNaOH - YNa + 0, + ZH0
DN - Zep = EHOL + W
_77_N2 +502 = 7 N,05
N, +3H2 —7 NH;
. Yr +50, — 7 Po0s
2P +3c, —7pcy
Yres +70s —=7Fep; +Hso,
. ] KNO; — JKNO, + O
T Ay LEO 4 O
CO, + ZKOH — K, CO; + H0
DAL 5,80, — ALSO) AH,
NHNO, — N, +/H0

. JHCl + CaCO; — CaCl, + HO0 +

CO,



23, CaCO; +ZHCI — CaCl, + CO, + H0
24. ZF6203 +3C —>5C02 4 LfFe

25. ( HCl +7 Al — ZAICl; +35H,

26. 7H80; + C — CO, +Z2H0 +/Z50,
7. 7 ROIOy 50 + 2 KGI

28, Cu +7AgNO; — JAg + CuNOs),
29. ZHf + ZN, — HBEN

30. 5HNO; + P — HpPO, $HNO, + H0
31, PO +éH20 — Y H;PO,

3. GHOH +90, — 2€0, +3HO
33. 7N, +502 —  ZN,0s

3, CHy A — OHj

35. 3 FeCly + ZNasPO; — Fes(POg), +ONaCl
36. p 0, + CHOH —4co, +5H0

37. bsr N, 2SN,

38, 2Cw,S + 20; — 2Cu,0 + 280

39.  MgN; + A0 —3MgO + 3NH;

40. Cr(OH); + NaOH — NaCrO, +ZH0

41. Choose the balanced equation

A) 2KOH + H;SO, — H;O0 + KjSOq4
B) KOH + H80, — HO + K;SO4
C) KOH + H,SO; — OHSOs + KH,
@ 2KOH + H,8S0, — 2H,0 + K,SOq4



42. Choose the balanced equation

A) 27HCI + NaOH — NaCl + H)O

B HCl + NaOH — NaCl + 2H;0
@ HClI + NaOH — NaCl + H;O

D) HCl + 2NaOH — 2NaCl + 2H,O

43. Which equation is not balanced?

A)  2NO + 0 — 2NO,

B) 2Na + 2H;0 — 2NaOH + H,

C HiPO4 + 3KOH — K5;PO, + 3 H,O
@) 3HBr + Fe(OH); — FeBrs + 6H0

44. The neutralization of hydrochloric acid (HCI) by calcium carbonate (CaCOs) produces
calcium chloride (CaCl2), carbon dioxide (CO2) and water (H20).
Write the balanced equation for this neutralization reaction.

7 | +GLOz b bl + CO, ~+ H. O
A

45. The combustion of methane, CHs mixed with O, produces carbon dioxide, COz, and water,
H20. The unbalanced chemical equation for this reaction is as follows:

CH4 e 02 — COZ + Hzo

Balance the chemical equation for this combustion reaction.

CHL{ + ZD?, — C@z +'2H2_O

46. When 191 g of copper, Cu, is combined with 756 g of nitric acid, HNQ3, the chemical
reaction produces 563 g of copper nitrate, Cu(NO3)2, 108 g of water, H20, and a certain amount
of mitrogendioxide, NOz. This reaction is represented by the following balanced chemical

equation:

Cu + 4HNO; — Cu(NOy + 2H;0 + 2NO;

What mass of nitrogen dioxide does this reaction produce?

Ce + 40 > Cu(n0s), + 2H20 + ZNO,

a4 ok 563 + 102 7

Lj\/\) e T
Q1 - 1l -




47. The combustion of 16 g of methane (CHa) in 64 g of oxygen gas (O2) produces 36 g of water
(H20)and a certain mass of carbon dioxide (CO2). The following balanced equation represents
this combustion reaction:

Combustion Reaction Involving Methane 8 D,A 3(0 —- qgg o
-

(:-H{; + ‘2 G}? l 2 H;,{:J + {.:Q-J}

lo+ b4 >3 7
The combustion of 11 g of propane (C3Hs) in 40 g of oxygen gas (O2) produces 18 g of water
(H20) and a certain mass of carbon dioxide (C02). The following balanced equation represents
this combustion reaction:

ombustion Reaction Involving Propane 5/” /(9;_ 333

L tado = 18 ¢

Which of these two reactions produces the smaller mass of carbon dioxide (CO2)?
For each reaction, show the calculations required to determine the mass of carbon dioxide

(CO2) produced.

48. Carbon burns in the presence of oxygen, O,, to form carbon dioxide, COs.

The carbon atom is represented by . and the oxygen atom by O
Which model represents this chemical reaction?

A) . - O = “ + Energy
® CO - O8O0 o
o O® - O —= @O® e

> @@ 00 = O80® +mes



